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Quiz 9 (20 points)

1. (7 points) A 1.00 mole sampe or propane, a gas used for cooking in many rural areas, was placed in a bomb calorimeter with excess oxygen and ignited.  The reaction was

C3H8(g)  +  5 O2(g)  (  3 CO2(g)  +  4 H2O(l)

The initial temperature of the calorimeter was 25.000oC and its total heat capacity was 97.1 kJ/oC.  The reaction raised the temperature of the calorimeter to 27.282oC.  What is the H of combustion for propane?

How many grams of propane are required to heat 100.0 g of water at 25.0oC to a boil?

2.  (3 points) Which of the following equations has a value of Ho that would properly be labeled Hf?  (answer yes or no)
a. CaCO(s)  (  CaO(s)  +  CO(g)




b. Ca(s)  +  ½ O2(s)  (  CaO(s) 




c. 2Cu(s)  +  O2(g)  (  2CuO(s) 




3. (5 points) Using a table of heats of formation, calculate Ho in kJ for the reaction 
CH4(g)  + Cl2(g)  (  CH3Cl(g)  +  HCl(g)

4. (5 points) We can generate hydrogen chloride by heating a mixture of sulfuric acid and potassium chloride according to the equation:

2 KCl(s)  +  H2SO4(l)  ( 2 HCl(g)  +  K2SO4(s)

Calculate the Ho in kilojoules for this reaction from the following thermochemical equations:

HCl(g)  +  KOH  (  KCl(s)  +  H2O(l)


Ho = -203.6 kJ

H2SO4(l)  +  2KOH  (  K2SO4(s)  +  2 H2O(l)

Ho = -342.4 kJ










